IWIS 998

WLH 2931//93 L/IoWaIe}~/Sy 09 6% T 0ET//-dnY :Sajlj J

—
®
(@]
>
2.
o
=R
5
=
=]
=
3
Q
=
o
=
=
=

©
§

o
o
o
Q
3
Q.
)
o
=
=
=

°
=
[y
W
o
[EEY
N
©
(o))
o
S
a
~
L
Q
=
o
3
®
=4
=

Rttp://130.149.60.45/~farbmetrk/TE6 7//TE67LONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/3

log AL luminance difference -
97 threchold L g=6.3cdin?
X oy

A 034 040 yarg g P-A3-fit

4 Y 045 047 4965

0,15 0,19

0,58 0,32

0,25 0,44

average

log AL luminance difference | _
threshold Lg=6,3cd/n?
X .y

A 034 040 a5 g p-A3-fit

1Y 045 047 50565y

RaalCel average

0,58 0,32

0,25

log AL Ittrj]rrwggﬁ&%e difference ngG,Scd/n?
X oy

A 0,34 0,40 yarq g p-A3-fit

] Y 045 047 506:R

UL @l average

0,58 0,32

log AL {Lﬁggﬁglge difference | g scai?
Xy

A 0,34 0,40 yaq g p-A3-fit

1 v 045 047 3 06cr

015 019

058 032

025 044

average

e ol
-3 -2 -1 0

TE670-7N_1

TE670-7N

log AL luminance difference -
S L g=6 3cdin?
X .y
A 0,34 0,40 data & P-A3-pc-fit »
| Y 045 0,47 g4 065 A
0,15 0,19
0,58 0,32
0,25 0,44

average

log AL luminance difference | _
threshold Lg=6.3cd/n?
x oy

A 0,34 0,40 data & P-A3-pcfit

[ Y 045 047 3 265y .
0:1580;19 average ’
0,58 0,32
0,25 0,44

log AL {ﬁ@gﬁgﬁe difference | g scai?
Xy
A 034 040 ya1a & p-A3-pe-fit
| Y 045 047 (50605
) (O average
058 0,32
0,25

log AL lﬂ@gﬁgﬁe difference | g scai?
x oy

A 034 040 a9 g P-A3-pe—fit

| Y 045 047 (5 56e R
0,15 0,19
058 0,32
025 0,44

average

TE670-8N_1

log AL luminance difference |, _
threshold Lg=6,3cd/nf
x oy

A 0,34 040 515 g p-A3fit

Y 045 047 4265 Agy |
015 @ average D
0,58 0,32 ”

0,25 0,44

log AL luminance difference | __
threshold Lg=6.3cd/nf
X oy

A 034 040 ;15 g p-A3-fit

L Y 045 047 45 265 AgB
0:1580;19 average

0,58 0,32
0,25 0,44

log AL luminance difference | _
threshold Lg=6.3cd/nf
x oy

A 034 0,40 5n g P-A3-fit

| Y 0,45 047 45 265 AR
DAOR0AO average

0,58 0,32
0,25 0,44

log AL luminance difference | _

threshold Lg=6,3cd/nf
x oy

AR0:SIRO0A0 data & P-A3-fit

L Y 0,45 047 41 265 ARG
DAOR0IO average

0,58 0,32
0,25 0,44

Y,

TE671-7N_1

log AL luminance difference
threshold
Xy
A 0,34 0,40 data & P-A3-pc-fit
4 Y 045 047 450658y,

WS Ol average ’
0,58 0,32 v

0,25

log AL luminance difference | _
threshold Lg=6,3cd/n?
Xy

A @5 A data & P-A3-pc-fit

4 Y 045 047 45 265 pgB
0:1580,19 average

0,58 0,32
0,25 0,44

log AL luminance difference | _
threshold Lg=6,3cd/n?
Xy
A 034 040 yoa g p-A3-pe—iit

1 Y 045 047 45065 AR
WS O average

0,58 0,32
0,25 0,44

log AL luminance difference | _
threshold Lg=6,3cd/n?
X oy
A 034 040 yoa g p-A3-po-fi

1Y 045 047 4/ 265 pgG
WS Ol average

0,58 0,32
0,25 0,44

ndino Ae|dsip Jo juswainseaw 10} uonedijdde

bas gnL \\

Sd'/ 1XL'YNO1293 /293 L-TOZOETOT :UoNens NS

9po2 :eusrew gn.i

U

TUB-test chart TE67; threshold daiaramopolos (89& input: w/rgh/cmyk —> w/rgb/cmyk
tp=26s, average of all observers, P-A3—pc-fit, 6,3€d/m output: no change
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TUB-test chart TE67; threshold dakaramopolos (89& input: w/rgb/cmyk —> rgly
tp=26s, average of all observers, P-A3—pc-fit, 6,3€d/m output: no change
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TUB-test chart TE67; threshold dakaramopolos (89& input: w/rgb/cmyk —> rgly
tp=26s, average of all observers, P-A3—pc-fit, 6,3€d/m output: no change
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